Gaead) :Gladal) g
Js¥) (s gimall

a YAV [N XY rolaniay) Rl
(T £) 2 A emla: Balall

GOles daaa paal) 3o caa /o iadadll
astall 1S, il ) a0
LlaY) zigal g ALiy)

ALls 43,



Benha University Time: One Hour

Faculty of Science //' \ﬂ First Semester 2016-2017
Dept. of Mathematics J»@fm Date : 21/1/2017

Computer Science (2) (40 UR) for First Level Students

Answer the following questions:
Question 1. (10 marks)
Correct the error(s) in the following C++ segment code.
A- int g(void ){
cout<< "'Inside function g"" << endl;
int h(void){
cout<< "'Inside function g << endl;
}
}
B- int h(int n){
if(n==0)
return 0O;
else

n,
} -
Question 2. (14 marks)
Write the outputs of the following C++ programs.

A- #include<iostream.h> B- #include<iostream.h>
void Fun(int & a, int & b){ void Fun(int n1, int n2){
int temp = a; cout << ""Versionl" <<endl;
a=b; cout << nl+nl <<endl;
b = temp; }
} void Fun(int n1, double n2){
int main(){ cout << "'Version2" <<endl;
intc=5; cout <<nl<<" ""<<n2<<endl;
intd=2; }
Fun(c, d); int main(){
cout<<c¢ <<""<<d <<endl: Fun(2, 3.5) ;
Fun(c, d); Fun(4,6);
cout<<c <<""<<d <<endl; return 0;
return 0; }
}

Question 3. (24 marks)

A- Using functions, write C++ program for finding the maximum of
three integer numbers. (12 marks)

B- Using functions, write C++ program to calculate and return the sum
of the integer numbers in one dimension array. (12 marks)

Best Wishes
Dr. Mosab Abd El-Hameed




Model Answer

Computer Science (2) (40 UR) for First Level Students

Answer of Question 1. (16 marks)
A- void g(void ){
cout<< "'Inside function g"" << endl;
}
void h(void){
cout<< "'Inside function g"" << endl;
}
B- int h(int n){
if(n==0)
return O;
else
return n;
}
Answer of Question 2.
A-2 5
5 2

B- Version2
2 35
Versionl
10
Answer of Question 3.
A-
#include <iostream.h>
int maximum(int a, int b, int c){
int max = a;
if(b > max)
max = b;
if(c > max)
max = C;
return max;

}

int main(){
cout << maximum(5,4,3) << endl,
return 0O;

}

B- #include<iostream.h>
int sum(int a[], int);
int main(){

int a[5] ={1,2,3,4,5};
int output = sum(a,5);
cout << output;




return O;
}
int sum(int a[], int n)
{
int suml = 0;
inti;
for (I=0;i<n; ++i)
suml += a[i];
return sumi,;

}



